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1  Solve.

(a) 81,129 + 4,36,561 – 3,13,119 (c) 55,31,000 – 4,37,101 – 32,99,233

(b) 11,35,000 – 4,67,443 + 3,99,999 (d) 9,21,009 + 12,17,312 – 99,999

2  Fill the missing operation (+ or –) and the missing digits.

(a)
1 3 9 7 1

5 7 3 5

2 6

(c)
2 0 6 2 2

5 3 4 5 8

7 4 2 8

(b)
3 0 5 0 3

4 9 6 3 1

8 2 7 3 3

(d)
4 1 7 6 4 3

8 6 5 2 3

4 0 5 2 1

Addition and Subtraction



14

3  Answer the following questions. 

(a) A farm produced 195,687 kg coffee in 
2009. It produced 2,67,002 kg coffee 
in 2010. How much more coffee was 
produced in 2010?

(c) The cost of a plot of land was 
`43,58,000 in 2011. By 2016, the cost 
increased by `8,53,030. What was the 
cost of the land in 2016?

(b) A farm produces 43,945 eggs every 
day. It supplies 15,495 eggs to a 
vendor, 12,035 eggs to another 
vendor, and the rest to a market. How 
many eggs are supplied to the market?

(d) By how much is 3,041,345 greater 
than the sum of 1,501,345 and 
587,283?

4  Complete the bill.

Item Amount

Camera `38,031

Refrigerator `

Television `53,173

Total `1,10,009




